

Summary of Bids Received

Project: Warren Road District 2013

Section: 13-14131-03-GM

Description: Mill and Resurface Various Township Roads

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate	
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$218,913.00	-20.93%	-\$57,933.00	
Curran Contracting Company	286 Memorial Court	Crystal Lake, IL 60014	Bid Bond	\$222,357.30	-19.68%	-\$54,488.70	
Payne & Dolan, Inc.	1700 120th Ave.	Kenosha, WI 53144	Bid Bond	\$233,767.25	-15.56%	-\$43,078.75	
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$257,794.46	-6.88%	-\$19,051.54	
Engineer's Estimate				\$276,846.00			
Design	IDOT(2)	Contract Bidder	P	JT then Plan Rack			
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	<u> </u>	
Construction	Project File	Request By Mail	N	ngr Capital Prograr	nming		



Return Bid Tabulation

Project: Warren Road District 2013

Section: 13-14131-03-GM

Description: Mill and Resurface Various Township Roads

Item No.	p. Pay Code Description		Quantity	Unit	Eng Es	timate	Curran Contracting Company		J. A. Johnson Paving Company		Payne & Dolan, Inc.		Peter Baker & Son Company	
		·			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	40600100	BITUMINOUS MATERIALS (PRIME COAT)	1,496.00	GALLON	\$3.00	\$4,488.00	\$1.65	\$2,468.40	\$0.01	\$14.96	\$0.10	\$149.60	\$0.01	\$14.96
2	40600300	AGGREGATE (PRIME COAT)	14.00	TON	\$1.00	\$14.00	\$1.00	\$14.00	\$1.00	\$14.00	\$1.00	\$14.00	\$1.00	\$14.00
3		LEVELING BINDER (MACHINE METHOD), N50 HOT-MIX ASPHALT SURFACE REMOVAL -	780.00	TON	\$75.00	\$58,500.00	\$63.90	\$49,842.00	\$73.00	\$56,940.00	\$67.30	\$52,494.00	\$61.50	\$47,970.00
4		BUTT JOINT	1.437.00	SQ YD	\$20.00	\$28,740.00	\$5.00	\$7,185.00	\$1.00	\$1,437.00	\$1.50	\$2,155.50	\$3.80	\$5,460.60
		HOT-MIX ASPHALT BINDER COURSE, IL-	_,		7	, ==, · · · · · · ·	70.00	Ţ.,=00.00	7	¥=,::::::	72.00	7-,	,,,,,	40,100100
5	40603080	19.0, N50	19.00	TON	\$100.00	\$1,900.00	\$125.00	\$2,375.00	\$73.00	\$1,387.00	\$154.10	\$2,927.90	\$135.00	\$2,565.00
6	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	1,299.00	TON	\$75.00	\$97,425.00	\$63.00	\$81,837.00	\$80.00	\$103,920.00	\$81.60	\$105,998.40	\$63.00	\$81,837.00
7	44000155	•	931.00	SQ YD	\$3.00	\$2,793.00	\$2.10	\$1,955.10	\$2.25	\$2,094.75	\$3.00	\$2,793.00	\$3.80	\$3,537.80
8	44000158		8,507.00	SQ YD	\$2.00	\$17,014.00	\$2.70	\$22,968.90	\$3.25	\$27,647.75	\$2.35	\$19,991.45	\$2.10	\$17,864.70
9	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	740.00	SQ YD	\$2.50	\$1,850.00	\$2.40	\$1,776.00	\$3.75	\$2,775.00	\$5.00	\$3,700.00	\$4.40	\$3,256.00
10		COMBINATION CURB AND GUTTER REMOVAL	500.00	FOOT	\$15.00	\$7,500.00	\$7.70	\$3,850.00	\$7.00	\$3,500.00	\$7.70	\$3,850.00	\$5.00	\$2,500.00
11 12		CLASS D PATCHES, TYPE I, 6 INCH	100.00 100.00	SQ YD SQ YD	\$50.00 \$50.00	\$5,000.00 \$5,000.00	\$48.00 \$48.00	\$4,800.00 \$4,800.00	\$50.00 \$50.00	\$5,000.00 \$5,000.00	\$25.70 \$25.70	\$2,570.00 \$2,570.00	\$75.00 \$65.00	\$7,500.00 \$6,500.00
12	44201717 CLASS D PATCHES, TYPE II, 6 INCH AREA REFLECTIVE CRACK CONTROL		100.00	SQ TD	\$50.00	\$5,000.00	\$46.00	\$4,800.00	\$50.00	\$5,000.00	\$25.70	\$2,570.00	\$65.00	\$6,500.00
13			12,668.00	SQ YD	\$1.50	\$19,002.00	\$1.40	\$17,735.20	\$1.50	\$19,002.00	\$1.40	\$17,735.20	\$1.38	\$17,481.84
		COMBINATION CONCRETE CURB AND	,			,		, ,		,		. ,		. ,
14	60608562	GUTTER, TYPE M-4.12	500.00	FOOT	\$30.00	\$15,000.00	\$22.00	\$11,000.00	\$20.00	\$10,000.00	\$22.00	\$11,000.00	\$23.00	\$11,500.00
15		BUTT JOINT FOR ENTRANCE RESURFACING	462.00	FOOT	\$10.00	\$4,620.00	\$9.85	\$4,550.70	\$1.00	\$462.00	\$6.10	\$2,818.20	\$6.55	\$3,026.10
16	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL) Bid Total	1.00	L SUM	\$8,000.00	\$8,000.00 \$276.846.00	\$5,200.00	\$5,200.00 \$222.357.30	\$18,600.00	\$18,600.00 \$257,794.46	\$3,000.00	\$3,000.00 \$233,767.25	\$7,885.00	\$7,885.00 \$218,913.00



Return Bid Details

Project: Warren Road District 2013

Section: 13-14131-03-GM

Description: Mill and Resurface Various Township Roads

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	40600100	BITUMINOUS MATERIALS (PRIME COAT)	1,496	GALLON	\$3.00	\$4,488.00	\$0.01	\$1.65	\$0.44
2	40600300	AGGREGATE (PRIME COAT)	14	TON	\$1.00	\$14.00	\$1.00	\$1.00	\$1.00
3	40600625	LEVELING BINDER (MACHINE METHOD), N50	780	TON	\$75.00	\$58,500.00	\$61.50	\$73.00	\$66.43
		HOT-MIX ASPHALT SURFACE REMOVAL -							
4	40600982	BUTT JOINT	1,437	SQ YD	\$20.00	\$28,740.00	\$1.00	\$5.00	\$2.83
		HOT-MIX ASPHALT BINDER COURSE, IL-							
5	40603080	19.0, N50	19	TON	\$100.00	\$1,900.00	\$73.00	\$154.10	\$121.78
		HOT-MIX ASPHALT SURFACE COURSE,							
6	40603335	MIX "D", N50	1,299	TON	\$75.00	\$97,425.00	\$63.00	\$81.60	\$71.90
		HOT-MIX ASPHALT SURFACE REMOVAL, 1							
7	44000155	1/2"	931	SQ YD	\$3.00	\$2,793.00	\$2.10	\$3.80	\$2.79
		HOT-MIX ASPHALT SURFACE REMOVAL, 2							
8	44000158	1/4"	8,507	SQ YD	\$2.00	\$17,014.00	\$2.10	\$3.25	\$2.60
		HOT-MIX ASPHALT SURFACE REMOVAL, 2							
9	44000159	1/2"	740	SQ YD	\$2.50	\$1,850.00	\$2.40	\$5.00	\$3.89
10	44000500	COMBINATION CURB AND GUTTER REMOVAL	500	FOOT	\$15.00	\$7,500.00	\$5.00	\$7.70	\$6.85
11	44201713	CLASS D PATCHES, TYPE I, 6 INCH	100	SQ YD	\$50.00	\$5,000.00	\$25.70	\$75.00	\$49.68
12	44201717	CLASS D PATCHES, TYPE II, 6 INCH	100	SQ YD	\$50.00	\$5,000.00	\$25.70	\$65.00	\$47.18



Return Bid Details

Project: Warren Road District 2013

Section: 13-14131-03-GM

Description: Mill and Resurface Various Township Roads

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		AREA REFLECTIVE CRACK CONTROL							
13	44300100	TREATMENT	12,668	SQ YD	\$1.50	\$19,002.00	\$1.38	\$1.50	\$1.42
		COMBINATION CONCRETE CURB AND							
14	60608562	GUTTER, TYPE M-4.12	500	FOOT	\$30.00	\$15,000.00	\$20.00	\$23.00	\$21.75
15	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	462	FOOT	\$10.00	\$4,620.00	\$1.00	\$9.85	\$5.88
		TRAFFIC CONTROL AND PROTECTION							
16	X7010216	(SPECIAL)	1	L SUM	\$8,000.00	\$8,000.00	\$3,000.00	\$18,600.00	\$8,671.25
		Bid Total				\$276,846.00			